ussie Pumps

AUSSIE SPARES DIAGRAM & PARTS LIST
WBL 917, WBL 1111,

Bertolini High Pressure Pumps :

WBL 1114

Kit No. Description List Price
BKIT12 Seal Kit Minor (15 pieces) $185
BKIT70 Seal Kit Major (21 pieces) $237
BKIT83 0il Seal Kit (8 pieces) $88
BKIT141  |Valve kit (12 pieces) $60
BKIT166  |[Valve Cap Kit (12 pieces) $193
Aussie pressure test set includes gauge
and fitting for testing pump output
ATESTSET pressure and Bertolini Pump Selection $125
Guide

Aussie Pumps

AUSSIE |
BLASTER |

Service

Fundamentals

Click image or check online for troubleshooting

guide & Aussie Blaster Service Fundamentals

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 |

02 9894 4240 |

Q9 \ o Q
Qs 1 @ 17 * 2/ °
15 ©-—-35 34
Position Part Number Description [o13Y List Position Part Number Description (014Y] List
1 B040364282 [PUMP HEAD (D.18) 1| $904 30/2 B040134262 |CRANKSHAFT WBL 911-913-917 1| $581
2-kit 141 B803061002 |O-RING D.1,78X12,42 6 -
- 30/3 B040167262 |CRANKSHAFT WBL 1010-1012- 1| $581
3-kit 141 B019802973 |CHECK VALVES 6 -
4-kit 166 B803065002 |O-RING 6 $5 30/4 B040154262 |CRANKSHAFT WBL 1109-1111- 1| $581
5-kit 166 B040365532 |VALVE CAP 6 $29 30/5 B040137262 |CRANKSHAFT WBL 1312 1] $581
10 B862900002 [BOLT TCEI M8X55 UNI 5931 4 $5 30/6 B040154262 [CRANKSHAFT WBS 1832-2532 1| $581
11 B824109002 |GASKET DIA.17X22X1 2 $4 30/7 B040136262 [CRANKSHAFT WBS 1735-2335 1| $581
12 B852579002 [PLUG G 3/8 2 $10 31 B806522002 |TAB 8x7x25 1| S5
15-kit 70-12 B050019322 [THRUST RING 3 - 33 B812725002 [BALL BEARING 1[ $82
16-kit 70-12 B802061002 |V PACKING DIA.18X28X5,5 3 - 34-kit 83 B802100002 [OIL SEAL 25X62X10 1| s27
17-kit 70-12 B050221322 |ANTI-EXTRUSION RING 3 - 35-kit 83 B803057002 [O-RING 1 S0
18-kit 70 B050223532 [FRONT GLAND DIA.18 MM 3 - 36 B852543502 [CAP G.1/4x9 1| $9
19-kit 70-12 B802044002 |U PRESSURE SEAL DIA.18X24X4 3 - 37 B814561002 [NUT M8 UNI 5589 3[ 6
20-kit 70 B040165532 |BACK GLAND DIA.18 MM. 3 - 38 B843642902 |WASHER DIA.8,1X14X1 3 s4
21-kit 70-12 B803073002 |O-RING DIA.23,52X1,78 3 - 39 B050010182 [CERAMIC PISTON DIA.18 MM 3| $131
22 B040367092 [CRANKCASE 1| $295 40 B803049002 |O-RING DIA.1,78X5,28 3[ s6
23-kit 83 B050050722 |CRANKASE COVER GASKET 1 - 41 B843726002 [WASHER DIA.9,1X24X1 3 $5
24 B801184002 |SNAP RING 1 $6 42-kit 64-83 B802035002 |OIL SEAL DIA.15X24X5 3[ so
25 B040120322 |OIL SIGHT GLASS 1 $10 43 B040012512 [PLUNGER ROD 3| $82
26-kit 83 B803189002 [0O-RING DIA.2,62X18,72 1 - 44 B852003002 |[PISTON PIN DIA.8X25 3] $9
27 B040106092 |REAR COVER 1 $47 45 B040115092 [CONROD 3| $41
28 B862166002 |BOLT M6X20 4 S4 46 B812707002 |BALL BEARING 1| $43
29 B049832973 |OIL FILLER PLUG 1 $19 47-kit 83 B802099602 |CAP 1] $19
30/1 B040324262 [CRANKSHAFT WBXG 3030-3530 1| $609 48 B050045612 | COVER 1| 36
49 B861955002 |BOLT TCEI M6X10 UNI 5931 4 4
Bertolini Kits ... Rejuvenate your pump & SAVE, SAVE, SAVE —

Quality
1S0 9001

®sacLosaL

aussiepumps.com.au

All prices Exclude GST

Bertolini/WBL /APR2023



https://aussiepumps.com.au/PDF/spares/SparesBreakdowns/Aussie Eco-Clean/API_Pressure_Cleaner_Troubleshooting_Guide.pdf
https://aussiepumps.com.au/PDF/spares/AussieManualsForRelease/API_Bertolini_Service_Fundamentals_2020_sml.pdf

